FR2TEEFE(2K)

B4 B4 —RRE | WEIRE | INERE G

ZH=E 775,000 0 0 775,000
NEH=E3:ES 45,000 45,000
—REEZRRE 680,000 680,000
HEWREZNRE 50,000 50,000

SHHEMEE 456,000/ 3,283,000 0| 3,739,000
JSCHBIE 0| 3,283,000 3,283,000

ST 456,000 456,000

SRS st 0| 1,545,000 0| 1,545,000
SRS et 0| 1,545,000 1,545,000

2 H A #t 3,360,000 0| 3,360,000
S2H A #t 3,360,000 3,360,000

SZEEANA 0 0 300,000 300,000
SZEEUNA 0 300,000 300,000

RAE 0| 2,161,404 0| 2,161,404
BRAZ 0| 2,161,404 2,161,404

BIEERBE 1,200,000 0| 1,200,000
AIFEEEE 1,200,000 1,200,000

FEUR R 1,000 100 10 1,110
FEUR 2R 900 0 900

SZEFIR 100 100 10 210

w # & & 5,792,000 6,989,504 300,010/ 13,081,514




X HDE

HMB4 HE & —RRE | WEIRE | INERE G

EXE 5,721,000/ 6,989,504 300,010| 13,010,514
Ik 0| 3,000,000 3,000,000

RERXBE 150,000 12,060 162,060

HEBE 0| 1,364,644 1,364,644

BIEE 300,000 300,000

tHRiEmE 200,000 200,000

HEME 200,000 288,000 488,000

ERE 100,000 100,000
FRIEAE 100,000 252,000 352,000

R & 100,000 100,000

EEH 70,000 442,800 12,000 524,800

RER# 150,000 150,000

EHE 0| 1,918,000 1,918,000

HE 3,000,000 3,000,000

XihEiEE 456,000 456,000

RHE 844,504 844,504

HE 5,244 5,244

FliEE 45,252 10 45,262

EEE 71,000 0 0 71,000
HBRNRE 71,000 71,000

= a8 & 5,792,000 6,989,504 300,010| 13,081,514




